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1	Introduction
In this contribution we focus on conditional handover RRM requirement. RRM requirements for conditional handover was widely discussed in the last RAN4 #91, with some agreement on definition of handover delay reached in [1]. Based on the agreement, here we further provide our view on the calculation of handover delay.
2	Discussion
Informatively, here we duplicate the agreement regarding conditional handover in LTE:
	· On conditional handover solution
· The handover delay is defined from the time when handover condition is met to the time when the first PRACH preamble is transmitted.
· The methodology of defining handover delay for LTE conditional handover shall be aligned with that for NR conditional handover. 
· The number for each component in the handover delay will be discussed in the next meeting. 
· Note that T∆ is not included in Tinterrupt for LTE.


The whole procedure can be found in the following figure:


Figure 1. conditional handover procedure
1) UE is configured with measurement by source eNB. After this UE will start L3 measurement on target frequency layer(s).
2) UE receives handover command via RRC from source eNB indicating conditional handover. 
3) As UE is moving towards target cell, condition is met after a while. Note that here “condition” means channel condition. Due to L3 measurement delay, there must be some latency between the point when channel condition is met and the point when UE actually realizes it.
4) UE realizes handover condition is met and executes handover to target cell. UE behaviours regarding handover execution are captured in TS38.331.
5) UE sends PRACH preamble to the target cell.
According to discussion above, then we can have the equation for handover delay:
DCHO = Ttrigger + Tinterrupt_CHO
Where:
· Ttrigger: is the delay from the time when condition is met to HO is actually executed:
Ttrigger = TRRC, 1 + Tmeasure + TTTT
	Where: 
TRRC, 1 : CHO command RRC procedure delay. 
TRRC, 1 =0 if the time from when the CHO command until the time when the condition is met > RRC procedure delay, otherwise TRRC, 1 = RRC procedure delay- (time from CHO command until the condition is met) 
	Tmeasure: measurement cycle on the target frequency layer
 	TTTT: length of time-to-trigger window if configured
· Tinterrupt_CHO: is the interruption time from HO is executed to the first PRACH preamble is sent to the target cell:
Tinterrupt_CHO = TRRC_2 + Tinterrupt
	Where:
TRRC_2: time to disconnect with the source cell, e.g. stop timer if running, release UL data compression configuration and etc 
	Tinterrupt = Tsearch + TIU + 20 (same as legacy definition, where Tsearch may not be needed if CHO to unknown target cell is not supported according to other working groups)


3	Conclusion
In this contribution we further discuss the RRM requirement for condition handover. After discussion the following proposals are provided:
Proposal 1: conditional handover delay is defined as:
DCHO = Ttrigger + Tinterrupt_CHO
Where:
· Ttrigger: is the delay from the time when condition is met to HO is actually executed:
Ttrigger = TRRC, 1 + Tmeasure + TTTT
	Where: 
TRRC, 1 : CHO command RRC procedure delay. 
TRRC, 1 =0 if the time from when the CHO command until the time when the condition is met > RRC procedure delay, otherwise TRRC, 1 = RRC procedure delay- (time from CHO command until the condition is met) 
	Tmeasure: measurement cycle on the target frequency layer
 	TTTT: length of time-to-trigger window if configured
· Tinterrupt_CHO: is the interruption time from HO is executed to the first PRACH preamble is sent to the target cell:
Tinterrupt_CHO = TRRC_2 + Tinterrupt
	Where:
TRRC_2: time to disconnect with the source cell, e.g. stop timer if running, release UL data compression configuration and etc 
	Tinterrupt = Tsearch + TIU + 20+ T∆ (same as legacy definition, where Tsearch may not be needed if CHO to unknown target cell is not supported according to other working groups)
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